FINELITE

Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Surface Mount T-Bar Starter/Independent Installation Instructions

A A
0 '

1.00"

0.67"

New Feed Hole

1/4"-20 Thread Hole

Secure to Structure
(by others)

hY

&)

< 6" >

2.00"

1/4"-20 Threaded Stud

MOUNTING HOLE LOCATION TABLE

FIXTURE LENGTH A
g 36"
8 84
12 132"

Step 4

Caddy Clips

& 1/4" - 20 Threaded Stud
L’i‘..-

7 &

=

#8-18 x 1/4"

Screw (provided) \

1/4" Washer

1/4"-20 Nut

Remove lens and set aside to prevent it from getting dirty Note new feed hole on fixture as indicated above.

or damaged.

Conduit

B
Dimming
(Gray)
a—
Dimming Feed Hole
(Purple)
Hole Cut N\
In Ceiling Tile %

tie-wire (supplied by others) according to code.

#8-18 x 1/4"

IDimming (Gray)
/
7

'\ Screw (provided)
— 1

Cut hole in ceiling tile for conduit to pass through. Insert wires

and conduit through ceiling tile and into fixture feed hole.

Install caddy clips accordingly. Secure fixture to structure using

Remove #8-18 x 1/4" screw (provided) to open trap door and install fixture
onto caddy clips with 1/4"-20 Nut and 1/4" washer onto 1/4"-20 threaded
stud. Repeat this step on the other end of the fixture.

\

Lens T

Insert wires through jam nut and install jam nut onto conduit connector. Make wiring connections.
Replace trap door and fasten with #8-18 x 1/4" screws (provided).

Reinstall lens. Turn power on to fixture.

Finelite, Inc. = 30500 Whipple Road * Union City, CA 94587-1530 ¢ 510/ 441-1100 « Fax: 510/441-1510 « www.finelite.com

Note: All power connections to be installed to
local/national codes by a Certified Electrician.

GIL/O} 19186 W04 "QIAYISIY SLHOIY TV "ONI ‘ILITINIH GH0C ©



Protected by one or more US Patents: 8915613; D702,391; D702,390; D700,732

HP-4 Surface Mount T-Bar Joiner Installation Instructions

#8-18 x 1/4"
Screw (provided)

Starter Distance

Joiner Distance Y

MOUNTING HOLE LOCATION TABLE
FIXTURE LENGTH ‘A’ (IN) 'B' (IN)
4 36 48.00
8 84 926.00
12' 132 144.00

Install caddy clips for Joiner accordingly. Secure fixture to structure using tie-wire ~ Remove lens and set aside to prevent it from getting dirty Open trap door by removing #8-18 x 1/4" screw (provided) on the side of the trap door and move Joiner next to Starter.
(supplied by others) according to code. or damaged.

Aligner Sleeve

1/4" - 20 Threaded Stud Caddy Clips Starter/ Joiner/Ender

#8-18 x 1/2" Combo Hex End Brackets
Screw (provided) | /

Plug Together Wiring

1

v '#‘T
0T ©
@
y

]

Starter

Joiner

4818 1 S 1/4" Washer

-18 x 1/4" Screw "

(provided) 1/4"-20 Nut

Connect Plug Together Wiring. Slide Joiner fixture to Starter and Install fixture onto caddy clip with 1/4"-20 Nut and 1/4" Secure joint with 2 #8-18 x 1/2" Combo Hex Screws (provided). Reinstall lens. Turn power on to fixture.
be careful not to damage any wiring. washer onto 1/4"-20 threaded stud. Replace trap door Screws can be installed from the left or right.

and fasten with #8-18 x 1/4" screws (provided).
Finelite, Inc. » 30500 Whipple Road « Union City, CA 94587-1530 « 510 /441-1100 « Fax: 510 /441-1510 « www.finelite.com | Mo 1 o oo O e e Lrectician.

G1/60 29186 W04 "QIAYISIY SLHOIY TV "ONI ‘ILITINI GL0C ©



	FL_HP4_SM_T-bar_Starter_InIn
	FL_HP4_SM_T-bar_Joiner_InIn

